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A person with blood group ‘B’ can donate blood
to persons having -

(A) A and O blood groups

(BY B and O blood groups

(C) A and AB blood groups

(D) B and AB blood groups

‘B’ wfut o A At i sfux ant & fdr &
T T T Thal &, qE § -

(Ay A Td O B¥T anf &

(B) B wd O T ot &

(C) Awd AB T o &

(D) B ud AB ®RI¢ aif @

Which shortcut key is used to delete a file
permanently in Windows?

Windows ® T =9 ¥ fha wEa # 22H & g
e 9T®me st H VAN BT & 7

(A) Shift + Delete  (B) Delete

(C) Backspace (D) F2

Choose the correct alternative for translation of
the technical term :

AT ..
(A) backplane (B) practitioner
(Cy plotter (D) supplement

If the height is doubled and the base is decreased
by 20%, then the ratio of old area of the triangle
and new area of the triangle is -

T ST B T B T ST ST ATuR B 20% F9

T Tamr 99, o Be % U dEwd i Rrgsye T
BA%H BT AT &

(A) 2:3 (B) 4:5

(€) 5:8 (D) 3:8

Vitamin that acts as a hormone and “incréases
absorption of calcium is -

(A) Vitamin B, (B) Vitamin K

(CYy Vitamin D (D) Vitamin B,

T Toefie S s B 9t ALt HT hivaad
B AT TR &

(A) faerfas =, (B) Ta=ihm &%

(C) faafim (D) fazifm €1,

Which of the following is the main component of
jute fibre?

(A) Cellulose (B) Lignin

(C) Pectin (D) Hemicellulose

e & @ dF-—a S dq @ geT ueE & ?

(A) g (B) Tt

(C) e (D) eitmgarT

According to Mendel, the phenotypic ratio of F,
generation of a dihybrid cross is -

W FHOYTET A B —

(A) 3:1 By 1:2:1

(Cy 9:3:3:1 (D) 15:1
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Choose the correct option.

The tone of a circular should :

(A) be different for different kinds of audience
(B) remain the same for any kind of audience
{C) be humorous

(D) be strict

Which of the following features allow you to
narrow down the data in your work sheet?

(A) Sorting

(B) Merge Cells

{C) Fill Handle

(D) Filters

Frfafad & & ®F-d gfaur Iel S ahsie §
T2 H FH B B STAN T E

(A) =TT (Sorting)

(B) #= ded (Merge Cells)

(C) Atem =@ (Fill Handle)

(D) Trees (Filters)

Silveriarticle turns black when kept in the open
forga few days due to the formation of -

Tial & A w1 A P5 fe gl T d§ w1 a &
ILIT BTl B A E 7
(AYVH,S

(C) AgSO,

(B) AgS
(D) Ag,S

Which one of the following is NOT a feature of

Rajiv Gandhi Scholarship for Academic Excellence

Scheme, 2021 anncunced by Government of

Rajasthan?

(A) Tt was announced on 20-08-2021 on the

occasion of birth anniversary of Rajiv Gandhi.

The objective of the scheme is to provide

financial assistance to students of Rajasthan

to study in top foreign universities.

(C) Minimum 33 percent seats are reserved for
girls in this scheme.

(D) Higher pricrity is given to students whose
parents’ annual income is less than T § lakhs.

Frfafag & @ Towm 9@ & i T ey
TR BT Ueheiieh TaTrd @, 2021 & fasa
CaE G FA A

(A) ZEH " el TiE % w7 e a 20-08-
2021 & @ Mg &

(B) 39 @hT % 3259 TSR & (qemday & S
Tersh fasafermaa & sreamm & foo faiig Heman
3T ®

(C) 39 WM o gAad 33% WM dsiedl & 6y
JrdEa F

(D) T fqeniai & sifrmaet & aitfe sma T 8
TG § HU BT SThl Ie WIUTehar & TS ¥
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A milk like preparation can be made from the
seeds of
(A) soyabean (B} gram
(C) maize (D) barley

& I B TH U SE] WA SAE S
Hed! 2|
(A) FEEMA

(C) Hempl

(B) ==
(D) =i

Which one of the following is directly related to

the appellate jurisdiction of the Supreme Court of

India?

(A) Appeals made in civil, criminal and
constitutional cases

(B) Appeals made in constitutional cases only

(C) Adjudication of disputes between the Union

(D)

and the States

Adjudication of disputes between the States
frfataa & & &F 91 0% 9T & sdred aEwd 6
sidiela aiftTepry & @ yergraa gaiferd & 7
(A) ET, AITfaE FoT WU qwEAt @l i
(B) waw d@duiiie qwedi § # g i
(C) g9 3ig Uoal % wed foanEi w1 =g favtaq
(D) =gt & T Tqaret # =g Mo

If ratio of length of vertical rod and length of its

shadow is 1;J§, then angle of elevation of stin
is-

T ST B B wHle dUl SHH BT H TR Bl
TG | ;3 &, A gI B SEA B F -

(A) 300 (B} 450

(C) 60° (D) 90°

The compound which gives alcohal, on
reduction is -

(A) alkyl cyanide

(B) alkyl isocyanide

(C) nitroalkane

(D) alkyl nitrite

g diftes fsTae sTugas € Urhled Hadl &, 98 & —

(A) Ufwhel HTEISE

(B) ufwpd AEHEEARES

(C) games

(D) Ufehe EZEE

The cube root of 512000 is -
512000 @1 oHH T —

(A) 50 (B} 60
(C) 70 (D) 80
‘heith’ % Fvichldd Bl Uehd hid dIdll 91 T8l & —
(A) T (B) Tt
(C) gqu (D) #F
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The Vagadi dialect is spoken in the area
of Rajasthan.

{A) South -eastern (B) South - western

(C) North - western (D) North - eastern

U] S TN H SERCECIE I Y
(A) =fem — & (B) =faor — afbandy

(C) sTC — uiyad (D) ST — qaEr

Rajasthan State Ganganagar Sugar Mill is a -

(A) Private sector company

(B) Cooperative sector company

(C) Government undertaking

(D) Joint undertaking of Government and private
sector

TR T T TR e % —

(A) Tl &5t &) dhut

(B) HEbrdl & &I Ul

(C)f Tt S9H

(D), | o el & Bl §Yad STHH

What is Nad?

(A) Adong flute

(B) Four strips of wood
{C)“Attached flutes

(D) One stringed instrument
w8 @ T 7

(A) Th @ Al

(B) wersr @ 9T diEEl

(C) sgsei aigheat

(D) UH T =T A

The members of Panchayat Samiti in Rajasthan
are -

(A) directly elected.

{B) indirectly elected.

(C) nominated.

(D) appointed by the State Government.
T o 9EEd |G & aew -

(A) we ®9 ¥ faifaa e 2

(B) amd =9 ¥ At =1 2

(C) wFT &l #1

(D) T HLHT EA Fgad B # |

The river Indravati is a tributary of the river

(A) Godavari (B) Krishna
{C) Mahanadi (D) Kavery
FEE R, TE @ qeTwm T4l g
(A) e (B) %=

(C) Homey (D)
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Replace the underlined part of the following
sentence with one word from the options given
below :

She teaches the science of the life of plants.
(A) botany (B) zoology

(C) biology (D) pathology

Which of the following is not used in the
preparation of soap?

(A) Palmitic acid (B) Stearic acid

(C) Lauric acid (D) Benzoic acid

e & &F-a1 wEA g9 A B e S

(A) uitHies s (B) Teufts ara

(C) =i o (D) siigs ara

DASH diet is recommended for patients suffering
from disease -

(A) Gastritis (B) Liver cirrhosis

(C) Hypertension (D) Anaemia

891 (fuuyg.ud.) et 34 Ufirg &l genfaa & ard
g ofl 39 O 8 ulhd € -

(A) wiaLay (B) T&a fatifas

(C) S=a Fan (D) I

Two cubes of side 5 cm each are joined to form g
cuboid, then the length of cuboid so formed is'-
(A) 5 cm (B) 10 em
(C)y 15 cm (D) 20 cm
5 891 4o % T T Bl SsdHT UH ATH ST SEl
2| 39 WL S U Hl R § -
(A) 5 &dr (BY 10 &
(C) 15 & (D) 20 &4

The official legal advisor to the statelGovernment
is -

(A) The Chief Justice

(BY The Attorney General

(C) The Advocate General

(D) High Court

T GBI B BAA AWl § qeE o & g
AfPpd & —

(A) & e

Which data type is NOT in M.S. Excel?
(A) Number (B)Y Currency

(C) Label (D) Date/ Time

TN § -1 327 5T TA.UE, THd § E g7
(A) =T (B) ®idr

(C) ofwet (D) =2 / 21|
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For how many years biological patent is legal in
India?

{A) 5 years (BY 10 years

{C) 15 years (D) 20 years

g o s 9rade had g a% 99 e § 7
(A) 5 a9 (B) 10 99

(C) 15 =t (D) 20 =9

Which among the following position is not held
by Chief Minister of Rajasthan?

(A) Member of Inter State Council

{B) Member of National Development Council
{C) Chairman of Chief Minister’s Advisory
Council

Chairman of Rajasthan State Human Rights
Commission

Fraftae & & @ | e 6 e Wl @ ue
&l &7

(A) Ssitei afvg & 93

(B)y, U faepre ufiwg @ Haw

(@) T T TAEHIC THIT W TN

(D) TSR 99 WA ST I 37ede

(D)

Read the following passage and answer the
question that follows, choosing the correct option:
Recent research into antibiotic - resistant
bacterial strains suggests the need for a re-
examination of the frequency with which doctors
prescribe antibacterial therapy. One study
demonstrated, for example, that most minor
bacterial infections will resolve without treatment
within 5 to 14 days of the onset of symptoms; a
course of antibiotics might reduce that time frame
by only 1 to 2 days. A second study indicates that
the incidents of “superbugs”, which have resistance
to a wide variety of antibacterial agents, is
increasing significantly and that these bugs are
more likely to spread among those who have been
treated with antibiotics within the past 5 years.

Q.
(A

The passage is primarily concerned with -
discussing research into the symptoms of
bacterial infections

explaining a change in the frequency with
which antibacterial therapy is prescribed.
contrasting the views of doctors and medical
researchers with respect to prescribing drugs.
questioning the routine prescription of
antibiotics for bacterial infections.

[ Contd...
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R’s salary 1s 30% higher than $7s salary, The
percent that §’s salary is less than R’s salary is -

R& 49 S & a7 & 30% offass 5\ R % 997 &
FeY § S % o5 @I A wHl 8 -

1 1
(A) 2% (B) %
(€©) 30% (D) 25%

Which of the following decades in Rajasthan has
highest population growth?

frrdifend 9 & @4 39 7 US| siEe ghe
FT Iegdm W7
(A) 1911-21
(C) 1971-81

(B} 2001-11
(D) 1991-2001

Which of the following devices can perform both
input and output functions?

(A) trackball

(B) communication device

(C) keyboard

(D) mouse

frrfeted & & SF- fsagy Y2 ud ameeye M
&% F B THA 57

(A) Sehar

(B) wamn feamy

(C) &%

(D) Hrs®

A Sum becomes ¥ 8,800 in 4 years“at sumple
interest at the yearly interest rate of 25% p.al What
is the sum (in rupees)?

TeE TTYT FIETT ST T 25% aiitieh sTEe @vd aui
o T 8,800 w1 i ¥ T (GO H) =L

(A) 1,100 (B) 2,200

(€) 3,300 (D) 4,400
‘qUYSE’ 9T H w91 §HIG & 7

(A) SUEN TITW (B} =791 gy
(€) sfptar dgey (D) €y degey

Which of the following reactions will not take
place?

e o & @4 arfHfe T2 B B 7

(A) Zn+FeSO, — ZnSOy + Fe

(B) 2KI+Cl, — 2KCI + 1,

(C) Zn+MgSO, —» 7ZnSO, + Mg

(D) Mg+ CuSO,; — MgSO, + Cu

3PR ] /\
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The Summit of the Shanghai Cooperation
Organisation (SCO) was hosted by which country
from 15-16 September, 20227

(A) India (B) Kazakhstan

{C) Tajikistan (D) Uzbekistan

SETE WA "ed (TE.ELAl) & RreEr e @
Ao 15-16 faame, 2022 1 69 291 7 @1 & 7
(A) W
(C) Teifpeam

(B) wraeEm
(D) Iaafrmm™

Where is “Great Indian Bustard” found?
(A) Ranthambhore

(B) Keoladeo

{C)Desert National Park

(D) Sajjangarh

i yRsl g S & ?

(A) T

(B) wemed

(C) T W T

(D) g%

The power of a convex lens is -

(A) positive (B) negative
(C) zero (D) infinite
I WE DI EEA BT E -

(A) YT (B) ®UiH®
(C) = (D) e

Who was the first Chief Minister of Ajmer state?
(A) Bal Krishna Kaul

(B) Hari Bhau Upadhyaya

(C) Heeralal Shastri

(D) Jai Narayan Vyas

ST TG & WoH & WAl B 97

(A) 919 S Hid

(B) &Y W& Surem

(C) sruam™ st

(D) =g AEEr =

[ Contd...
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Which of the answer figures marked A, B, C and
D is exactly the mirror image of the main figure?
A, B, C 3R D ® & #1981 Iu¢ arpfa &7 T g
R B T By T ?

Main Figure / §&a Smgfa

£5

Answer Figures / 30 gkl

AN A
WA e[

A
S8 W[
7>

A cross between heterozygous progeny with its
homozygous parent is known as -
(A) Test cross (B} Effective cross

(C) Back cross (D) Pure cross
ferorgraehl H=ciTet <o SHeh GHYTHH! STeh o e Hh LYl
bl HEd & —

(A) udigor deiu (B) Wi Heo

(€) ydst deptu (D) s HepT™

When was National Rural Employment Guarantee
Scheme was renamed as Mahatma Gandhi,National
Rural Employment Scheme?

(A) 2 October, 2005 (B) 2 October, 2009

(C) 2 October, 2008 (D) 2 October, 2010
L TTHTOT TSR TOET @hiH 1 A9 SEw Df, HeTe]
T AR AT ISR THIA Tl (BT 7

(A) 2 &FFER, 2005 (B) 2 sy, 2009

(C) 2 sAFaR, 2008 (D) 2 s, 2010

Which of the following organisation was founded
in 1921 in Shekhawati under the impact of Non-
cooperation Movement?

(A) Shekhawati Sudhar Sangh

(B} Chirawa Sewa Samiti

(C) Shekhawati Kisan Panchayat

(D) Shekhawati Prajamandal

frrfafiaa o @ framErT & f6d @ed @l @ 1921
W SEEArT AREd & yAE F g3 ofr?

(A) srEmER gar §g

(B) Tasmen @ar arfa

(C) s feam damad

(D) $rEER THvSd
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Convert the following indirect speech into direct
speech by choosing the correct option :

He inquired whether his name was not Ahmed.
{A) He said to him, “Is not your name Ahmed?”
(B) He said to him, “Was not your name Ahmed?”
{(C) He said, “Was not his name Ahmed?”

(D) He said to him, “Is not his name Ahmed?”

In which one of the following forts is Jhalibab
Baori and Mamadev Ka Kund located?

(A) Chittorgarh (B) Gagron fort

(C) Kumbhalgarh fort(D) Taragarh (Bundi)
RrET aras! &Y Ared & Fvs Fetarad § ¥ e

o & fera 37

(A) fadiee (B) T g
(C) Zrwerme g (D) anE (540
e Rag S8 yegg (fad 91 BT 87
(A) NgEET (B) gy

(C), &z (D) g
ETN = ® e -

(A) arpa (B) am==at
(C) o (D) fagsia

Gregor Mendel, through his work on which of the
following, discovered the laws of inheritance?
{A) Beetles (B) Mustard

(C) Sea Urchin (D) Peas

TR Aved o [0 9T A BT FEnE & Fa
yfamfea forg ?
(A)

(C) =l aafedT

(B) &=
(D) "X

Change the voice of the following sentence from
the options given below :

Wheo teaches you such things?

(A) By who was you taught such things?

(B) By whom you were taught such things?
(C) By whom are you taught such things?

(D) You were taught such things by whom?

India’s first electronic bank guarantee is issued by
which bank?

frE ¥ 10 TG @ YUY TN g ML Wil

@M E?
(A) HDFC (B) SBI
(C) PNB (D) BOB
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cotZ 0 — cosec20 = ?
(A) 0 (B) 1
() —I (D) 2

In MS Word, when the page margins are altered or
when the text does not fit on the current line,
which feature automatically moves the text to the
next line?

(A) Word Wrap (BY Word Enter

(C) Word Format (D) Word Scroll

uquyg 9€ ®, Wd U qiisA siieed 6y wd & 41 oy
e HiZ WigA W b TEN T, 99 HA-| Bra
THIE H] @A & A A H g9 HY ThaT § ¢
(A) = W (B) =€ d&X

(C) o wiHe (D) @€ &hid

If in a imaginary language the digits 0, 1, 2, 3, 4,
5.6, 7, 8,9 are substituted by [, m, n, 0, p, ¢, .
s, t, u respectively and 21 is written as nm, then

{(m — qr) X mn] is equal to -

iy Us wTedies AT H sient 0, 1,2, 3, 4.5, 6, 7.
8,9 ®m ®I: [, m,n,0,p,q,r st uH T
fogr war & gur 21 &) nm fwar s &, @)

{(lo — qr) x mn] T E -

(A) onp (B)y —qtu

(€C) —onp (D) qtu

frfafiaa & fea fage & waaras gegaa i< 22
(A) T=T, & (B) TrEA, @s@

(C) T, sEy (D) =99, raT

Whao was the father of Ajayraj Chauhan'af Ajmer?
(A) Chandraraj 1l (B) Vigrahraj 1l

(C) Durlabhraj 1l (D) Prithvirajl

SIS &% SIS e & Tdr & 2

(A) T=ae e (B) TwEg= fEdm

(C) g T (D) gearE] 9o

As per Thornthwaite’s classification which of the
following represents the climate of Jaisalmer?

UHEIE & LT & FIEN (raiaiEd § § HF |

AT B TAeASTg B TET BT & ?
(A) EA'd (B) CA'w
(C) DA'w (D) DB*w

Which district of Rajasthan is the part of very
humid climate region?

(A) Ajmer (B} Kota

(Cy Jaipur (D) Bikaner

TERA & S| faen f om Swarg weer @t
T 7

(A) =W (B) @i

(C) wmge (D) drT

3PR ] /\

60

ol

62

63

04

05

Lakshya Sen and Kidambi Srikanth are associated
with which one of the following sports?

(A) Football (B) Cricket

{C) Badminton (D) Tennis

e G ud fepart dreia e § @ fow @@ @
grfa ¥ 7
(A) e
(C) d=hrea

(B) femehe
(D) =hm

e @wre o usd 9= b 9IQ B Taed fed | fedr
=Y § faamm A &, 39 ®ed 27

(A) wHETE (B) #=

(C) eiga dyey (D) Huar degey

In India, the Coniferous trees are found in
{(A) Mangrove Forests

(B) Tropical Evergreen Forests

(C)f Trapical Thorn Forests

(D) Mountaim Forests

HITeH JigaTl gar # 9 S g
(A) dmayad

(B) SwEsfeed™ TIEer aq

(C) Sommiegdya Haw a9

(DynFedE a9

binder whose leadership was the excavation work
of Ahar accomplished?

(A) V. S. Wakankar (B} H. D. Sankalia

(C) B. B. Lal (D) V. N. Misra

318 ol Se@dd g fbaeh g o Fromfia gor ar?
(A) & TE. avet (B) wa. @ "ista

(C) . & @ (D) . wA. fysm

*‘Arun Hydroelectric Project” is result of co-
operation between India and

(A) Bhutan (BY Nepal

(C) Afghanistan (D) Myanmar

3G ST ATCEET | U < HEA
%1 TfmH 2 |

(A) ¥z (B)

(C) s (D) =M

Rajiv Gandhi Rural Olympic games were
inaugurated by Chief Minister of Rajasthan in

{A) Jodhpur

(BY Jaipur

(C) Jalore (D) Hanumangarh

Tl T A Al @l Sl 3gHETed TSR b
T w1 g # fopan T

(A) ragr (B) v

(C) = (D) =garTTe
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What is the value of ’0.064><6.259
hat 1s the value o 0.081xd84

0.064 625
0.081ndgs T T TNE !
10

(A) 9 (B) Y
10 100

(©) 39 (D) 99

Who was the Chairman of First Finance
Commission of Rajasthan?

(A) Heeralal Devpura

(B)Y Krishna Kumar Goyal

(CY Iyoti Kiran

(D) Manik Chand Surana

ORI % Wod fod I &1 SiemeT B o1 ?
(A) 2T ey

(B) &% HUR MW

(C) aifq feaeor

(D) #ifoes < g

BIOS is a part of which of the following?
i F= | § e @ Rwm B9

(A) RAM (B) LAN

(C) ROM (D) WAN

Which of the following is a physical change?
(A) Rusting of iron

(B) Combustion of magnesium ribbon

(C) Burning of candle

(D) Melting an ice cube

frrfafga o & ifds afEas w9 |1 8¢

(A) ®e ® S @

(B) iy T &1 387

(C) wmaEdr & Fe

(D) o% w1 e

How many times do the hands of a clock coincide
in 36 hours?

36 guei § U T Bl HgAr fha I foedr €7

(A) 33 (By 35

(C) 36 (D) 39

Find the missing number.

q< Hedr T St

47 # 38=8374, 53 * 16 =6135, 20 % 92 =7
(A) 1840 (B) 2902

(C) 2920 (D) 9220
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White color

73

74

75

76

Consider the following situation, what can be said
about emergent ray / rays?

Emergent ray

(A) VIBGYOR

(B) a red light

(C) a white light

(D) a violet light

Freafirfiae Rerfr o e ¥ <@ g Pt feon | Pt
% G W FT HET S el § 7

(A) TgsER (VIBGYOR)
(B) T, WaBTST
(C) gl ymist
(DYNET HeTeT

I how many phases the integration of Rajasthan
was completed?

(A) Five (B) Six

{C) Seven (D) Eight
ST 1 T ol e aon o g gam 7
(A) ufa (B) =

(C) =i (D) e

Choose the correct tense of the verb given in the
bracket.

Do you (speak) English?
(A) spoke (B) spoken
(C) speak (D) speaking

Choose the correct antonym of the following word
from the options given :

Freedom

(A) slavery
(C) unchained

(B) liberty
(D) independence

FHE 9TE W el iy U ¥ -
(A) & + 95 (B) B + 4%
(C) =H + 9= (D) %d + 9%
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Most of the pathogenic organisms that cause
diarrhoea are transmitted by -

(A) Droplets

(B) Faecal - oral route

(C) Insect - hite

(D) Animal to person contact

FHTY WTeTep i Il AT AN BT I &, o
garie B € -

(A) & @

(B) #e-Higs At &

(C) &S & ®HeA &

(D) dy] 1 R & w9h &

i3 % U AT HEEL W del Ay T -
(A) fasier & w@arr yepe e

(B) w@m 7 &

(C) =EUEe T

(D) aiftten u¥vE AT

Which of the following sections does not exist in
a slide layout?

(A) Titles (B} Charts

(C) Lists (D) Animations
Frefofian & & @61 SV WES A% 3§ e
el B 7

(A) =
(©) fereed

(B) =rea
(D) TfFmI=

A man sold two tables for ¥ 720 each. Onyéne he
gained 20% and on the other he 19s8520%Find
his total loss or gain in this transactign.

(A) No loss no gain (B) Profit,ef 40
(C) Loss of T 40 (D) Loss‘at.I 60
U EHl | 3 AW e T 720 H 4« VU u¥ o
20% @Y qT gAY T 20% B g, 9 T &4 T

gl AR W e e el @ @ gan ?

(A) 9 &5 1 @19 (B) T 40 @1 @y

(C) T 40 @i =it (D) T 60 B BT+

The river which is known as the sorrow of West
Bengal is -

(A) Damodar (B) Brahmaputra

(C) Gandak (D) None of these

&1, fe aftem de @1 i el ST, 9% & -
(A) THREY (B) smg=

(C) Tv=H (D) 75 & ®Ig a8
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The ratio of radii of two right circular cylinders is
2 : 3 and the ratio of their heights is 5 : 4, then the
ratio of their curved surface areas and volumes
are respectively :

a7 g e ® Bt @ egea 203 e
SETdl & AT S 4 F, A1 SE Se & 9 g
Hhe YT SIAAT BT U HHIT: & —

(A) 5:6,5:9 (By 5:9;5:6

{(C) 6:5:9:5 (D) 9:5;6:5

The process of arranging items of a column in a
particular sequence or order is called as -

(A) Arranging (B) Autofill

{C) Sorting (D) Filtering

FrHll &I & ST BT P oTTRT A1 HA (Grere A
EYH, AT B &I Wihd @l Bel W §
(A) T (B) atizittea

(Chnaifen (D) fipeeftn

Infhexadlecimal number system the value of the
base i§

FUTS gAY HE YWl ¥ ST @l HE BT &
(A) 2 (B) 6
©) 8 (D) 16

In a mirror the image of an X object appeared to
be inverted and enlarged. The type of mirror is -
{A) Plane mirror (BY Concave mirror

{(C) Convex mirror (D) Parabolic mirror

s U H fedr a5y X @ uiaad 3ol 9 9% 9 98l
ST ¥ 1 qU B uphT & -

(A) H9ad I (B) aradw quor

(C) =aa Tqw (D) wraeiys gdu

Choose the incorrect statement -

{A) Graphite has layered structure

(B) Graphite contains delocalized electrons

{C) Graphite can be used as a lubricant

(D) Graphite can not conduct electricity

YT YT DI Bileyw —

(A) THIEe & qRAE W@ B §1

(B) Tz ¥ foramiigd sode &9 2

(C) THEE @ UH WEd & B9 H TgHR R S
Hdl 2|

(D) vz faga wenfed 2 &L #1
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Who was the first Indian to scale Kanchenjunga
in 1977 and is known as ‘Snow Tiger’, who died
recently in October, 20227

(A) Col. Prem Chand

(B)Y Pankaj Kumar

(Cy Umesh Zirpe

(D) Colonel Narendra Kumar

B F TRAC AH W AW AW g ug 1977 o
HETS Bl GdlE B AT 9gq HiLar o1, faer e
A A FEEy, 2022 Wy B O ?

(A) &w dTa=

(B) Ut $HI

(C) wuyr i

(D) ®w TE FAN

Frfafaa & & few fomed o @l o= atgrg 7
(A) @idg, i, HHd
(B) FapE, &1, A9y
(C) =, W, T

(D) dgudd, deamEaa™, dEHal

If the average of m numbers is n? and that of

n numbers is m?, then average of (m + n)
numbers is -

afy m dears & of|d n? ¥ 80T 38 9t n T
&1 offed m? &, 99 (m+n) TEmah @ of|a T
(A) m+n (B m—n

(C) mn (D) m/n

Who is chairman of DRDO? (Asmon,. 181"
December, 2022)

(A) Samir V. Kamat (B) Dr. Vijay Singh

(C) Dr. Alok Jain (D) Rajwant By Singh
DRDO & aed & & 7 (18 femwy, 2022 & &7Er)
(A) TR 4. ®ma (B) =i fosmmiie

(C) =i A S+ (D) e &, e

The edge of a cube is increased by 20%, then its
volume is increased by -

TH =9 & A 20% B gha B ST 8, 79 566

AT H 85 g &
(A) 20% (B) 60%
(C) 72.8% (D) 80%

Amarshahi is the name of -

(A) Jooti {Footwear) (B} Jewellery
(C) Terracotta Vessel (D) Pagdi
FATIME! Topeer 9 & 7
(A)

(C) Pl =1 o=

(B} amyqya
(D) wEt
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10

What proportion of area of state of Rajasthan is
desert?

(A) Half (BY Two-third

(C) One-third (D) One-fourth

TSI TG I a1 Aoy &9 § 7

(A) s (B) wr-faerg
(C) up-—fuerd (D) us-diurd
Select the odd man.

(A) Taka (B) Rubal
{C) Riyadh (D) Riyal
faww @l wife)

(A) =m0 (B) &5«

(C) Tar= (D) foma

During the peried of which Maharana of Mewar
was SChiteron Ki Ovari” an art school in the palace
established?

(A), Maharana Pratap

(B) Maharana Amar Singh

{C)” Maharana Jagat Singh |

(D) Maharana Jai Singh

e /b fopg TR % Ty Ueded H CCfadd @
S AT F e ey e fEm T e

(A) HETTOT warT

(B) weraem amY e

(C) wermn s fHe wam

(D) weren w4 fie

In which physical region of Rajasthan Mukundra
Hills are located?

{A) North Aravali (BY Middle Aravali

(C) South Aravah (D) Hadoti Plateau
Teter & e e yder § e & vzl
g &7

(A) T8 aTager (B) #e aTrae!

(C) zfoolt sraaen (D) FERT TR

Fill in the blank with the appropriate article.
Eat banana everyday to keep yourself
healthy.

(A) a (B) the

(C) an (D) zero article

The least distance of distinct vision for a young
adult with normal vision is about -

T g At gan aaws & fag fee g g wn & ?
(A) 25 m () (B) 2.5cm (&)

(C) 25cm (&9 (D) 2.5m ()
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In which budget year was Chief Minister of
Rajasthan declared the ‘Rajvastariya Panchayat
Award Yojana’?

fpg ase ad o Toee & ge W A uweE
TOTgd STaTE FIEET S arwem B A ?

(A) 2013-14 (B) 2015-16

(C) 2014-15 (D) 2016-17

Chief Justice of

Justice Pankaj Mithal is
Rajasthan High Court.

(A) 38t (B) 49t

(C) 29t (D) 40t

TAed Uhe FYe TeRIM 3o Eed % El
e T E

(A) 38 (B) 49

(C) 29 (D) 40

Where was Bhakti Saint Ranabai born?

(A) Harnawa (B)Y Dehara
(C) Pilibanga (D) Sanchore
Al TAEE &1 9 B8 gol AT 7
(A) &= o (B) =0 H
(C) et o (D) wER ¥

In Rajasthan ‘Mission Buniyad’ is related to -
(A) Digital learning

(B} E-Health services

(C) Poverty eradication

(D) Police reforms

TR H CTism g @ d@dy B -

(A) Refied affn &

(B) $—%ew wamsff &

(C) THE T |

(D) gfere gam &

Which place is famous for Ajarkha Print in
Rajasthan?

(A) Jaisalmer (B) Sanganer

(C) Barmer (D) Kota

FE fire & 0 T & ie-u W qeE 7
(A) SHTHT (B) ®RTHT

(€) 9wt (D) i
‘Amendment’ & Tau @& witmiyes s= & —
(A) afEe= (B) wefg

(C) R (D) HsmeaT

The term ecology was coined by -

(A) Brown (B) Aristotle

(C) Reiter (D) Khorana

gTsT WIRehT A wawerd famm ¥ -

(A) == (B) g

(€) drex (D) g

11

107

108

109

110

106 ‘Terah Tali’ dance is performed in the praise of

Folk God

(A) Gogaji (BY Mallinathji

(C) Tejaji (D) Ramdeyvji
I T R A ATl
EiG IS

(A) TSt (B) Heelmrerd

(C) e (D) e

Which mountaineer has become the first Indian
Woman to scale the summits of five peaks above
8000 metres?

(A) Arunima Sinha (B) Privanka Mohite

(C) Premlata Agarwal (D) Malavath Purna
B TEAEr g 8000 WY ¥ HA e %
Ry 95 e yuq A qfeer &7

(A) el (B) firgen @ifea

(CY N SrreTe (D) WrerEd quit

1
If x:m, then the value of x2 4 2x 43 is -

1
TR
(A) 2442

() 4

g, o x2+2x+3 wH AN -

(B) 3+42
(D) 0

Salute - Tis a -

(A) Geostationary Satellite
(B) Rocket

(C) Constellation

(D) Space Station

e - 1 E U -

(A) qfer SumE

(B) ke

(C) Sar=

(D) arafye wym

Translate the following sentence into Hindi :
He called a taxi for me.

(A) T84 g9 U% <Hll el

(B) =@ T ¥ g

(C) & 4% Ty us 2l gelid |

(D) =% AX fery ueh 2l o)
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Mahesh is 121 from left and Suresh is 12t from
right in a line of 19 boys. How many boys are
between them?

19 5] @ Uh died o 291 9l SR ¥ 12 91 g
ot i R § 129 %) O % wed T wsdh &7
(A) 2 (B) 3

€y 4 (D) 5

Which one of the following is newer mountain
range?

(A) Annamalai (B) Aravali

(C) Shivalik (D) Vindhyan

frafafiga & 4 &9 9 T&mae 9d9a e g 7

(A) ar=TeTd (B) artram

(C) farariee® (D) Tevem

Camel Research Centre is located at -

(A) Barmer (B) Bikaner

(C) Jalore (I2) Sri Ganganagar

e ATEYN HE fem ¥ -

(A) ar=aT (B) dwmt

(C) smar (D) drm |

‘o1 Y Sad T B A 2 g H BE-E
ferghoor % 7

(A) Hehaaradm (B) wiHETaS

(C) s (D) TerarEs

How much percent area should be under forests'in
the plain area according to National Forest Policy?
TS 99 T % ER Jamr & o ey afasre s
&9 g1 b T e @i ?

(A) 33% (BY 20%

(C) 9.32% (D) 3.83%

If Ranchi is called Raipur, Raipur is called Patna,
Patna is called Cuttack and Cuttagk is called
Bhopal, then what is the capital of Bihar?

(A) Ranchi (B} Patna

(C) Bhopal (D) Cuttack

gf T @l Ty HET A1 B, WYX Dl AT HE1 A
¥, TS B HH HE A & qUT HH Bl WA Hel
T E, A TR B TSy R g 7

(A) T (B) Tz

(C) Ture (D) @b

Choose the correct preposition to fill in the blank.
Warning ! No unauthorized personnel this
point.

(A) since (B) of

(C) beyond (D) besides
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118 Which of the following districts of the state are

located on the international boundary from south
to north?

{A) Ganganagar, Bikaner, Jaisalmer and Barmer
(B) Barmer, Jaisalmer, Bikaner and Ganganagar
(C) Jalore, Jaisalmer, Bikaner and Ganganagar
(D) Ganganagar, Bikaner, Jaisalmer and Jalore

T F & H T TSy W T SR § S39% @
T Reg €7

(A) T, AT, SAEEHT Ud 9TEHT

(B) FEHY, SHHL, SRFT Td AT

(C) S, Fgewe, diehMT ud =g

(D) TR, SEHT, SEAET U9 AT

The ratio of the side and height of an equilateral
triangle is -

guETg s @ gen ot S # sue B ® -
(A 2:33 (B) 43:2

(Om241 (D) f3:1

4w
log {T} is equal to -

41
Iog{%} WA § —

(A) logd+log! + logm +logk

(B) 2log2+log! + logm —logk
(©)
(D)

logd—log! — logm —logk
log2+log! — logm +logk

What is ‘Mokri*?

(A) Lac Bangles

(B) Woollen carpets
(C) Terra-cotta Pottery
(D) Wooden toys
AR w1 ¢ P

(A) @ @ gisal

(B) & @ afa

(C) Tl & i

(D) @& & faam

The first space ship sent out of the solar system
was -

(A) Chandrayan - 2 (B) Mangalyan

{C) Pioneer - 1 (D) Pioneer - 10

"X AYSH & A6 Al T qEEn e a4 —
(A) 9=3m - 2 (B) e

(C) R - ] (D) wmEitET - 10
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Nobel Peace Prize, 2022 was given to Ales
Bialiatski.

He is from which of the following countries?
(A) Ukraine (B) Belarus

(C) Russia (D) England

Told SioaTeen! bl Al 9 gLehrt, 2022 § g
femar T

g frfefaa & & e o1 H § 7

(A) T5 (B) mew

() & (D) 3reivs

Which of the following industrial areas is not
located at Jodhpur?

(A) Pal Shilp Gram (B) Boranada - Ill

(C) Napasar (D) Mandore

Pret & & B @ Sheifi 83 SEge ¥ Rerg w8 27
(A) 9@ f3eg I (B) ot - I

(C) -ET (D) #=iT

The blood cells that protect the body from microbes
and other foreign substances are -

(A) Erythrocytes (B) Leukocytes

(C) Platelets (D) Lymphocytes

TR HIYTBIT S 97O Y Gemsiral ST 311 sTedr qamed
§ i TEh E A E

(A) FTT] (B) yda]

(C) iz (D) wirhry

Which of the following statements is incorfect

regarding Governor of Rajasthan?

(A) The Governor’s Secretariat is worKinggte

provide administrative support to Goveérnor.

The chief of Governor’s Secretariat is

Secretary of Governor who istantefficer of

Rajasthan Administrative Services,

The decisions taken undér thesdiscretionary

power of the Governor can nofibe challenged

in the court.

The Governor cannot grant pardon in the case

of death sentence.

fort & @ & @ w6 U 6 gey o

A 7

(A) TSI H WITH{E HEETT UEH Hd & (Wd
Yo AharerE wETd # |

(B) = HiEETerd Sl W TeuTd @ |iad st
T <1 fop TR weTEG Fa @ ST B
£l

(C) T ! Wi sl 9 R T oy @
g ¥ AR TR & ST EEd |

(D) TSI ®Y JGES & IUSIEY % faeg &HIET @
sifer oy T E

(B)

(€)

(D)
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127 Treieiad o & ®E-@1 @@ o T8) 2 7

(A) gioas
(C) sifeaga

In a triangle A4BC, 2/4=3/B=6ZC, then
ZA, ZB and /C respectively are -

uw By A4BC ® 2/4=3/B=6/C, @
ZA, /B qu SC wEst ¥ -

(A) 60°,90° 30°  (B) 90°, 60°, 30°
(C) 300, 60°, 90° (D) 90°, 45°, 4350

(B) #fes
(D) @ded gl

Which district is not situated in very humid climatic
region?

{A) Sirohi

(B) Northern Chittorgarh

{C) Banswara

{D) #Baran

afd and Simarg Ryt ¥ @ faem Rem T8 ¥ 2
(A, Tt

(B) il faiieng

(C) argaTst

(D) =

Who among the following, Governor consults for

the appointment of Lokayukta in Rajasthan?

{A) Chief Minister

(B) Chief Minister and Chief Justice of High
Court

(C) Chief Justice of High Court and leader of
opposition in the Assembly

(D) Chief Minister, Chief Justice of High Court
and leader of opposition in the Assembly

TR H oAU AwgeR] @ Mgl & fog e

# fopae wry wrmst B %7

(A) et Hll

(B) T W &Y 39 AR & e ey

(C) ¥=a =TT & &I gt ot faem g #
wigar @1 S

(D) gea #31, 3Ta <EweE ® el Sy o

fqar wa o wiquer w1 A

Who among the following won his 251 world title
at the World Billiards Championship held at Kuala
Lumpur on §-10-20227

(A) Saurav Kothari (B) Pankaj Advani

(C) Geet Sethi (D) Aditya Mehta
Frefafas & & R 8-10-2022 & paaemeqR o
st fase fafvady Sftwamsiiu o swuer 25 o fasa
Rerarg har 7

(A) 9@ Hlel (B) d&w sr=am
(C) i wér (D) e #ear
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A group of 1200 persons consisting of captains
and soldiers is travelling in a train. For every
15 soldiers there is one captain. The number of
captains in the group 1s -

FAE T At & 1200 SfRel & U 9 39§
AT H T | T w15 At | us Fa T
™ 9§ e B sen § -

(A)y 72 (By 75

(C) 80 (D) 85

Vijay Hazare Trophy is associated with which
sport?

(A) Football (B) Hockey

(C)y Volley-ball (D) Cricket

fersta =Ty gt &1 e fey T " # 7

(A) Fesme (B) war

(C) ateraTa (D) fempe

Which one of the following Articles of Indian
Constitution deals with the Oath of Governor?
(A) Article 154 (B) Article 155

(C) Article 158 (D) Article 159

A & WU & Fraiafea e agewe 5 Tead
@ 91Uy 1 wred fear war § 7

(A) =g 154 (B) &= 155

(C) or== 158 (D) e =g 159

In which year Government of Rajasthan unbundled
Rajasthan State Electricity Board (RSEB) into five
Government Companies?

TR T A fopg ad & worens v e
1 " W R o i et

(A) 2012 (B) 2007

(C) 1995 (D) 2000

When was Rajasthan Foundation sétwup?
TR BTSN B WUl & 5 7

(A) 2001 (B) 2000

(C) 2002 (D) 2003

What is the main attraction of the Kanan Fair of
Barmer?

(A) Gidda dance (B)Y Bhawai dance

(C) Ghudla dance (D) Gair dance

ASHT % B TS B [EA HTHYW FHT L7

(A) fig g (B) wad 7
(C) ygeer 3 (D) R g

What is the synonym of “Deform”?
(A) mould (B) fashion
(C)y distort (D) beautify
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139 Who is Chief Election Commissioner of India?

{As on 18 December, 2022)
(A) Rajiv Kumar

(B) Sunil Arora

{C) Om Prakash Rawat
(D) Susheel Chandra

I % Jed g gH B & ¢ (18 e, 2022
¥ oTIET)

(A) wslia gar

(B) g s

(C) 3fH WeblsT Teard

(D) geia ==

Where was ‘Rajasthan Sewa Sangh’ founded in
19197

(A) Bijolia (B) Wardha

(C) “Ajmer (D) Jaipur

1949 & T ¥aT W' bl WA Her B g o477
(@A) Tyofiiear (B) =uf

(CYNeramy (D) wrEqe

According to the India State of Forest Report 2019,
the number of states (Not Union Territories) having
percentage of forest cover less than 10 is -

i w2 o Bt fde 2019 % S| 39 U=
(s oMiYT wasT wEY) @l wen w8l 9= &= wios™ A
10 & w7 %, a8 % -
(A) 5
(C) 7

(B) 6
(D) 8

In a DBMS, the content and location of data is
identitied by :

{A) Subdata

(B) Sequence data

{C) Metadata

(D) Minidata

DBMS ¥ =1 & ®ide 9 WH & UgaH 389 &l
ST E

(A) "g=1d1 {Subdata)

(B) =@ =T (Sequence data)

(C) "ersrer (Metadata)

(D) THter=r (Minidata)
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The Election Commission of states give their
recommendations regarding disqualification of
assembly members —

(A) To Chief Minister

(BY To Governor

(C) To Lokayukta

(D) To High Court

At & frares SmErT fau @ weedl @i ST %

HEY F T IO o §

(A) T wolr & 149
(B) T @

(C) g &1

(D) ST9 <™ ®l

From which civilization have the remains of well
developed walled fortification found?

(A) Pilibanga (B) Ganeshwar

(C) Kalibanga (D) Balathal

fomer T o el famiia Wi ga TeeeieT & sras

ey &7

(A) e (B) TrgET

(C) erelisn (D) 9l

Who is the Basketball legend and Arjun awardee, | 150

who died on 15 November, 20227

(A) Ghulam Abbas Moontsir

(B) Sarabjit Singh

(C) Gurdayal Singh

(D) Khushi Ram

ARA & SEheATd 47T Ud A JIEhTT Terig die
¥, Reeer 15 T, 2022 @ denT & Y
(A) AW oA Y

(B) @i fHe

(C) TReam fag

(D) gelr

Where are files moved in windowsrafter deletion?
(A) Windows Explorer

(BY Recycle Bin

(C)y Control Panel

(D) My Documents

fediie e & @ R # wd s i ¢ ?

(A) favsis Taaa

(B) Tamfea fam

(C) & Te

(D) = st

Under Indira Rasoi Yojana, Lunch is provided at
3 per plate.

3feaT 1O TS & aT=Tid 2 T w2 ¥ 39e
w1 T IUA BT ST 2 |

(A) 17 (By 7

(C) 8 (D) 12

15

148 How many days’ work is provided to urban

unemploved persons under Indira Gandhi Shahari
Rojgar Guarantee Yojana?

e el el TSR TRE A % s el
ASTTRT @l fha f&T % TSR @l ey < S1mer & 7
(A) 60 (By 100

(C) 120 (D) 150

Who among the following artisans awarded
Padmashri for Terracotta of Molela?

{(A) Mohan Lal Kumhar

(B) Mahesh Soni

{C) Arjun Prajapati

(D) Shree Lal Joshi

= et 7 | e e A® Hieren & g s
yepry fean a3 7

(A) fATRHT PR

(B) T&3l Hmi

(Congisf vk

(D). &7 W el

Study/the following graph carefully to answer
the“question :
= W6 H1 AU YHE AEIT BT T9T H Al

gty -

v
= 6000+
S 4 5000
"2 I
m%moo-
E‘Ef'soooa
B ¥ 20004 --1- o1
5@'1000— Z
L X
A B C
Colleges / Braw
Boys / w=®
/ o
/ Giirls / rsfad

What is the respective ratio of total number of
students of college A to C?

st A qul C # ga feenfaai & g & agu
T E?
(A) 3:2
(C) 1:2

(B) 2:3
(D) 1:1
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